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410 [R)AFLxFLy)=/=LT ==L T—TF /L 3.4 2.2 5.2|  0.006 0.39 0.35 11
427 [J1L UL 60 60
428 |7 )T HNT 21 63 83
438 [AFNFTHLL 0.29 0.29
457 [P I LR A 40 78 186 304
s i 285 175 415 184 206 240 1,505
#3-1-19 BB ANARDTEE BRI - KA BRI DO Pl EAHEF RS R CEAB0E AL ; LAY S
ek AT B (kg/4F)
L7 e 4 FHEH] B A Al | ARedm | e UEBRA] P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 [747u=)L 0.15 40 40
EHT LF R B 2V M O O (7 v
30 [FAVIDRFEH100H14ETOLD K IEDIR 23 0.85 0.97 18 43
BYNIRD, )
53 |TF NP 20 23 0.90 4.1 48
57 |=FL v yYVa—E /) F )L T—T)L 7.7 7.7
64 |Th7= T aysA 5.0 5.8 2.3 19 2.6 34
80 [FiLv 51 59| 0.002 7.4 7.3 124
86 /LY —/L 17 6.5 7.4 31
87 |ZmAR O Az MEaY 0.024 0.024
117 | T77a)ry— 2.2 2.2
132 [ VNR OO EY 0.004]  0.007 0.012
139 [hTEAR 6.2 0.96 7.2
140 |7 =rFus’R 2.3 2.3
153 | ThI AR 103 1.7 1.9 92 0.044 198
171 [For=ty— 19 19
181 [Prmp~_ Py 122 15 18 155
207 2, 6=V =4 =) =T F N —4—JL ) —)L 4.9 3.6 0.0008 8.5
225 |RZmLiy 0.90 1.0 1.9
248 HATV ) 0.21 0.24 0.46
251 |[Zx=haFAfr 57 66 1.5 124
252 |7 F A 2.0 15 17 34
256 |7 1k 2.0 2.0
257 |F 7 /) —/V 0.002 0.002
275 |RT Y VEREE D 2 0.005 0.005
296 [1, 2, 4—RJAF LB 9.9 210 220
297 |1, 3, 5—RAF L~ B 8.6 60 69
300 [hrer 0.46 0.64 1.1
302 [F7HL 0.009 0.37 0.38
320 /=N Tx/)—)L 0.12 0.12
346 [2—Tx=NTx/)—)L 0.086 0.086
350 |~ULAR Y 6.6 6.2 7.1 6.8 36 62
405 [1ZH5H#LEW 3.8 0.70 4.5
R (AF T Ly) =T NF)Lz—T )L (TILF
407 | NVIEDRFED 20 H15ETOLED K IE DR 3.6 4.1 0.045 7.8
GRS, )
408 |ARY (AFv=FLo) =4 /FNTz=)LT—T )L 0.54 0.62 1.2
RY (FF L 2FL ) =R T L T—TUhEET A
09 |2 5 0.034|  0.039 0.074
410 K (A FvzFLy) =)=V Tz =)L T—F )b 3.9 4.2 4.9]  0.007 0.46 0.42 14
427 |J1/vsYv 69 69
428 |7 )TINT 24 75 99
438 AFNFTHLL 0.34 0.34
457 [V 7VARA 46 152 175 373
& i 328 340 390 211 246 287 1,802
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#3-1-20 F% Al b:f%é%%%@?ﬁu-ifr%m#%%’fﬂmﬂkﬂji;&%ﬁﬁ

2R CERR30EEIE ; R UF I
PR i (kg/4F

KA )
e WA, FIE M T RN S =l S: P
fiRea - BobA | BRI [BikREE BR Al FUE o
22 [747u=)L 0.32 138 139
BT VNP AR N O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 50 0.89 1.9 64 117
BWIIRD, )
53 |TF AP 21 46 3.1 14 84
57 |=FLv s )a—LE/)TF L T—F)L 27 27
64 |ThT7= T aYIA 5.3 12 5.0 65 9.0 96
80 [FI L 54 117[  0.005 26 26 222
86 | /LY —/L 37 6.8 15 59
87 | ZuLR U=l b & 0.083 0.083
17 (772l —) 7.5 7.5
132 |2 SUVRR O DIREY) 0.015 0.026 0.041
139 [hIuAR 13 3.4 17
140 [ 7= FusRp 4.9 4.9
153 |[T7hI AR 222 1.7 3.8 199 0.16 426
171 | 7e’atry—iL 65 65
181 [Yrmo~ B 263 16 36 315
207 |2, 6—V—H—vx)—TF)—4—JL/—)L 11 7.8 0.003 18
225 [NJZmjLie 0.95 2.1 3.0
248 [ HATY ) 0.22 0.49 0.71
251 |7==kaFAfv 60 131 3.2 194
252 | 7= F A 4.4 15 34 53
256 |7 Wk 6.9 6.9
257 | T/ —)L 0.003 0.003
275 |RT YV VRREE S R D A 0.011 0.011
296 |1, 2, 4— R AF LB 34 734 769
297 |1, 3, 5—RIAF N~ BV 30 210 240
300 b 1.6 2.2 3.9
302 [F7HL 0.031 1.3 1.3
320 /=T x/)—)L 0.41 0.41
346 2—Tx=/NTx/)—)L 0.30 0.30
350 [~ULAR) Y 14 6.5 14 15 125 175
405 1ZH5FLEW 8.1 2.4 11
R (AFLFLU) =T AFNLT—T /L (T LF
407 | VIEDRFEN120B15ETOLD K ZE DR 3.8 8.3 0.16 12
AWIBRD, )
408 AU (XL xF L) =AIF N T 2=/LT—F /)L 0.56 1.2 1.8
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.036/  0.079 0.11
410 [R)AFLxFLy)=/=LT ==L T—TF /L 8.4 4.4 9.71  0.014 1.6 1.5 26
427 [JInN) v 149 149
428 | 7= )T HNT 51 263 314
438 [AFNFTHLL 1.2 1.2
457 [V 7rLRA 99 160 349 608
s il 709 357 780 456 862 1,003 4,168
#3-1-21 FMANARDTEE LRI - KA R D Bl EAHEF RS R G304 AL ; g B U
ek AR i (ke /)
L7 e 4 FHEH] B R Al | ARtedm | e T UBBRA] P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 | 747 u=)L 0.37 99 99
EHT L F AR B RVR R OF O (7 v
30 [FVIEDRFEH100H14ETOLD K IEDIR 58 1.5 3.3 46 109
GRS, )
53 |TF NP 35 78 2.2 10 126
57 |=FLrrVa—E/TF )N T—F)V 19 19
64 |Th7z= T aysA 9.0 20 5.8 46 6.4 87
80 [FrLv 91 200|  0.006 18 18 327
86 /LY —/L 43 12 25 80
87 |ZmAR O AliznMEaY) 0.059 0.059
117 | T77a)ry—) 5.4 5.4
132 [ VNR OO EY 0.011 0.018 0.029
139 [hTmARY 16 2.4 18
140 |7 =rFusRR 5.7 5.7
153 | ThI AR 257 2.9 6.5 230 0.11 497
171 [Far=ty— 16 16
181 [Zmp~L By 305 28 61 394
207 2, 6=V =4 =) =T F N —4—JL—)L 12 9.0 0.002 21
225 [RJZmLy 1.6 3.5 5.2
248 HATV ) 0.38 0.84 1.2
251 |[Zx=haFAfr 102 224 3.7 329
252 | 7= FF 5.1 26 57 89
256 |7 1k 4.9 4.9
257 | T /)= 0.004 0.004
275 |RT I IVEREE Y 2 0.013 0.013
296 |1, 2, 4— R AF N~ BV 25 525 549
297 |1, 3, 5—RAF LB 22 150 172
300 [hroer 1.2 1.6 2.8
302 |[F7HLv 0.022 0.94 0.96
320 /=T x)—)L 0.29 0.29
346 [2—Tx=NTx)—)L 0.21 0.21
350 |~ULAR Y 17 11 24 17 90 158
405 [1ZH5H#LEW 9.4 1.7 11
R (AF T Ly) =T NF)Lm—T )L (TILF
407 |WVIEDRFFII1203515FTOHLO KR OIE DR 6.4 14 0.11 21
GRS, )
408 |ARY (AFv=FLU) =4 /FNTz=/LT—T )L 0.95 2.1 3.1
RY (FAFL2F L) =R T L T—TUhEET A
09 |2 5 0.061 0.13 0.20
410 (R (A FvxFLy) =)=V T =)L =—T )L 9.7 7.5 17[  0.016 1.2 1.1 36
427 [ 173 173
428 |7 )TINT 59 188 247
438 (AFNFTHLL 0.86 0.86
457 [V 7LARA 115 271 597 983
& i 822 605 1,334 529 616 717 4,623
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#3-1-22 Al b:f%é%%%@?ﬁu-ifr%m#%%’fﬂmﬂkﬂji;&%ﬁﬁ

i}
3 B it (kc

R CPARSOAEIE ; i fi] IT)
(ke/4F

KA
e WA, FIE M T RN S =l S: P
fiRea - BobA | BRI [BikREE B Al R FUE o
22 [747u=)L 0.68 234 234
BT VNP AR N O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 106 4.3 6.0 109 225
BWIIRD, )
53 |TF NP 100 141 5.3 24 271
57 |=FLoFYa—LE/FNT—T)L 46 16
64 |ThT= Ty s 25 36 11 110 15 197
80 [FI L 256 362 0.011 44 43 705
86 /LY —/L 78 33 46 157
87 /AR U =AliZn LAY 0.14 0.14
17 (772l — 13 13
132 |2 VRROZEDOLAEY 0.025 0.043 0.069
139 [hIuAR 29 5.7 34
140 [ 7= Fusp 10 10
153 |[T7hI AR 470 8.3 12 421 0.26 911
171 |[Fatary—u 109 109
181 [Yrmo~ B 558 78 110 746
207 |2, 6=V —H—3x)—TF)—4—IL/—)L 22 17 0.005 39
225 |NJZmLRY 4.5 6.4 11
248 ([ HATV ) 1.1 1.5 2.6
251 |7==kaFAfv 287 405 6.8 699
252 | 7= F A 9.3 74 104 187
256 |7 Wk 12 12
257 | T/ —)L 0.007 0.007
275 |RT YV VRREE S R D A 0.023 0.023
296 |1, 2, 4— R AF LB 58 1,240 1,298
297 |1, 3, 5—RIAF N~ BV 51 354 405
300 |hrry 2.7 3.8 6.5
302 [F7HL 0.052 2.2 2.3
320 /=T x/)—)L 0.69 0.69
346 2—Tx=/NTx/)—)L 0.51 0.51
350 [~ULAR) Y 30 31 44 31 212 348
405 1ZH5FLEW 17 4.1 21
R (AFzFLU) =T AFNLT—T )L (T LF
407 | VIEDRFEN120B15ETOLD K DR 18 26 0.27 44
BWIBED, )
408 |ARY (AFTFLUv) =4I F N T == =—TF )L 2.7 3.8 6.5
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.17 0.24 0.42
410 |[RY (AFveFLy)=/=Tz=)LT—T /)L 18 21 30 0.030 2.7 2.5 74
427 [JInN) v 315 315
428 |7 )T HNT 108 444 552
438 [AFNFTHLL 2.0 2.0
457 [V LRA 209 765 1,080 2,055
s i 1,500 1,710 2,413 966 1,456 1,694 9,740
#3-1-23 FMANARDTE L BRI - KA R D Bl B AHEF RS R G304 A 3550 U
ek AR i (ke /)
L7 e 4 FHEH] B R Al | Redm | e T UBBRA P
& BobA | BIRIR [BiEREEE | BRA S FUE o
22 | 747 u=)L 1.5 252 253
EHT VXN R BU 2V M O O (7 v
30 [FAIDRFEH100H14ETOLD K IEDIR 239 5.6 7.8 117 369
BWITIRD, )
53 |=FA~v B 131 183 5.7 26 347
57 |=FLrrVa—E/TF )N T—F)L 49 49
64 |Th7zrTaysA 33 46 24 118 16 238
80 [FrLv 336 469 0.024 47 47 899
86 /LY —L 176 43 60 278
87 |ZmAR O Az MEaY 0.15 0.15
117 | T77a)ry—) 14 14
132 |2/ VR RO OLE 0.027 0.047 0.074
139 [hFmARY 64 6.1 70
140 |7 =r 7 asp 24 24
153 | 7RI AR~ 1,057 11 15 947 0.28 2,031
171 [ FoEeaty—L 118 118
181 [PZmp~L P 1,255 102 143 1,500
207 |2, 6=V —H—1x—TF)—4—JL/—)L 50 37 0.005 87
225 [RYZmLy 6.0 8.3 14
248 | BATY ) 1.4 2.0 3.4
251 |7==hmaF o 377 525 15 917
252 | 7= F A 21 97 135 252
256 |7 1k 12 12
257 | T /)= 0.016 0.016
275 |RT Y VEREE Y 2 0.053 0.053
296 |1, 2, 4— R AF N~ BV 63 1,336 1,398
297 |1, 3, 5—RIAF L~ B 55 382 437
300 |MLwy 3.0 4.0 7.0
302 |[F7HLV 0.056 2.4 2.4
320 /=T x/)—)L 0.74 0.74
346 2—Tx=NTx/)—)L 0.54 0.54
350 |~ULAR Y 68 41 57 70 228 463
405 [13HH#LEW 39 4.4 43
RY (AF =T LY) =T X )Lm—T )L (TLF
407 |WVIEDRFFII1203515FTOHLO KR OE DR 24 33 0.29 57
GRS, )
408 |ARY (A Fv=FLU) =4 /FNT ==L T—T )L 3.5 4.9 8.5
RY (AFL 2T L) =R T L T—TUhEET A
409 By 0.23 0.32 0.54
410 (R (A FvxFLy) =)=V T =)L =—T )b 40 28 39| 0.067 3.0 2.7 112
427 [ 710 710
428 T )T HNT 243 478 722
438 (AFNFTHLY 2.2 2.2
457 [V VLR A 472 1,004 1,400 2,875
& i 3,378 2,242 3,127 2,175 1,568 1,825 14,315
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#3-1-24 F Al b:f%é%%%@?ﬁu-ifr%m#%%’fﬂmﬂkﬂji;&%ﬁﬁ

i}
3 B it (kc

R CPARS04ERE s —EIR)
(ke/4F

KA )
e WA, FIE M T RN S =l S: .
fiRea - BobA | AR [BikREE HBR Al FUE
22 [747u=)L 0.35 126 126
BT VNP AR N O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 55 2.7 3.4 58 119
BWIIRD, )
53 |TF AP 64 79 2.9 13 159
57 |=FLvFYa—LE/FNT—T)L 25 25
64 |ThT7= T aYIA 16 20 5.5 59 8.2 109
80 [FI L 164 203]  0.006 24 23 414
86 /LY —)L 40 21 26 87
87 | ZuLR U=l b & 0.075 0.075
U7 [57=a2y = 6.9 6.9
132 |2 VRROZEDOLAEY 0.014 0.023 0.037
139 [hIuAR 15 3.1 18
140 [ 7= FusRp 5.4 5.4
153 |[T7hI AR 243 5.3 6.6 218 0.14 473
171 | 7e’atry—iL 59 59
181 [Yrmo~ B 289 50 62 400
207 |2, 6—V—H—vx)—TF)—4—JL/—)L 12 8.6 0.002 20
225 [N 7oLk 2.9 3.6 6.5
248 \HATV ) 0.68 0.85 1.5
251 |7==kaFAfv 183 228 3.5 415
252 | 7= F A 4.8 47 58 110
256 |7 Wk 6.2 6.2
257 | T/ —)L 0.004 0.004
275 |RT YV VRREE S R D A 0.012 0.012
296 |1, 2, 4— R AF LB 31 668 699
297 [1, 3, 5—hIAF LB 27 191 218
300 [~ 1.5 2.0 3.5
302 [F7HLY 0.028 1.2 1.2
320 /=T x/)—)v 0.37 0.37
346 2—Tx=/NTx/)—)L 0.27 0.27
350 [~ULAR) Y 16 20 25 16 114 190
405 1ZH5FLEW 8.9 2.2 11
R (AFLFLU) =T AFNLT—T /L (T LF
407 | VIEDRFEN120B15ETOLD K ZE DR 12 14 0.14 26
AWIBRD, )
408 ARY (AFvFL L) =FAIF N T =) T—T )L 1.7 2.1 3.9
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.11 0.14 0.25
410 [R)AFLxFLy)=/=LT ==L T—TF /L 9.2 14 17 0.015 1.5 1.3 42
427 [JInN) v 163 163
428 T )T HNT 56 239 295
438 [AFNFTHLL 1.1 1.1
457 [V LRA 108 489 607 1,204
s i 777 1,092 1,356 500 784 912 5,421
#3-1-25 FMANARDTEE ) BRI - RS BRI D Bl R AHEF RS R G304 A MBI
ek AT B (kg/4F)
L7 e 4 FHEH] B R Al | ARtedm | e T UBBRA] P
& BobA | BIRIR [BiEREEE | BRA S FUE o
22 [747u=)L 0.25 44 44
EHT L F IR BU 2R M O O (7 v
30 | FNEDKEEN10H14ETOLD K OZE DR 39 0.42 2.1 20 62
GRS, )
53 |TF NP 10 50 1.0 4.6 65
57 |=FLrrVa—E/TF )N T—F)V 8.6 8.6
64 |Th7z= T aysA 2.5 13 3.9 21 2.9 43
80 [FiLv 25 127 0.004 8.2 8.2 169
86 /LY —L 29 3.2 16 48
87 |ZmAR O AliznMEaY) 0.026 0.026
117 | T77a)ry—) 2.4 2.4
132 [ VNR OO EY 0.005/  0.008 0.013
139 [hTmARY 11 1.1 12
140 |7 =rFusRR 3.9 3.9
153 | ThI AR 174 0.83 4.1 156 0.049 335
171 [Far=ty— 21 21
181 [Prmp~_ Py 207 7.7 39 253
207 2, 6=V =4 =) =T F N —4—JL ) —)L 8.3 6.1 0.0009 14
225 |RZmLiy 0.45 2.3 2.7
248 HATV ) 0.11 0.53 0.64
251 |[Zx=haFAfr 29 142 2.5 173
252 | 7= FF 3.5 7.3 37 47
256 |7 1k 2.2 2.2
257 | T /)= 0.003 0.003
275 |RF Y VRilRT D A 0.009 0.009
296 [1, 2, 4—hRJAF LB 11 234 245
297 |1, 3, 5—RAF LB 9.6 67 77
300 [hroer 0.52 0.71 1.2
302 |[F7HLv 0.010 0.42 0.43
320 /=T x)—)L 0.13 0.13
346 [2—Tx=NTx/)—)L 0.095 0.095
350 |~ULAR Y 11 3.1 15 12 40 81
405 [1ZH5H#LEW 6.4 0.78 7.2
R (AF T Ly) =T NF)Lm—T )L (TILF
407 |WVIEDRFFII1203515FTOHLO KR OIE DR 1.8 9.0 0.050 11
GRS, )
408 |ARY (AFv=FLU) =4 /FNTz=/LT—T )L 0.27 1.3 1.6
RY (FAFL2F L) =R T L T—TUhEET A
09 |2 5 0.017|  0.086 0.10
410 (R (A FvxFLy) =)=V T =)L =—T )L 6.6 2.1 11 o0.011 0.52 0.47 20
427 [ 117 117
428 |7 )TIINT 40 84 124
438 (AFNFTHLL 0.38 0.38
457 [V IVARA 78 76 379 533
& i 557 170 847 359 275 320 2,527
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#3-1-26 FHMANASR LTS BT -i’f%ﬂ:#%%’f%ﬂ@%ﬂjif%#

2R CFR304F I ; FUADT)
PR i (kg/4F

KA )
e W4 FIE M T RN S =l S: P
fiRea - BobA | BRI [BikREE HBRAl R FUE o
22 | 747 u=)L 0.57 83 83
BT VAR B AR O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 88 0.51 2.3 38 130
BWIIRD, )
53 |TF AP 12 53 1.9 8.6 76
57 |=FLvFYa—LE/FNT—T)L 16 16
64 |ThT7= T aYIA 3.0 13 8.8 39 5.4 70
80 [FI L 31 136]  0.009 15 15 198
86 | /LY —/L 65 3.9 17 86
87 | ZuLR U=l b & 0.049 0.049
U7 [57=a2y = 4.5 4.5
132 |2 SUVRR O DIREY) 0.009 0.015 0.024
139 [hIuAR 24 2.0 26
140 [ 7= FusRp 8.7 8.7
153 |[ThI AR 392 1.0 4.4 351 0.093 749
171 [Fae=aty—u 39 39
181 [Yrmo~ B 465 9.4 41 516
207 |2, 6—V—H—vx)—TF)—4—JL/—)L 19 14 0.002 32
225 [N 7oLk 0.55 2.4 3.0
248 [ HATY ) 0.13 0.57 0.70
251 |7==kaFAfv 34 152 5.7 193
252 | 7= F A 7.8 8.8 39 56
256 |7 Wk 4.1 4.1
257 | T/ —)L 0.006 0.006
275 |RT YV VRREE S R D A 0.019 0.019
296 |1, 2, 4— R AF LB 21 439 459
297 [1, 3, 5—hIAF LB 18 125 143
300 |hjrmy 0.97 1.3 2.3
302 [F7HLY 0.018 0.78 0.80
320 /=T x/)—)L 0.24 0.24
346 2—Tx=/NTx/)—)L 0.18 0.18
350 [~LARY 25 3.7 16 26 75 146
405 1ZH5FLEW 14 1.5 16
R (AFzFLU) =T AFNLT—T )L (T LF
407 | VIEDRFEN120B15ETOLD K DR 2.2 9.6 0.094 12
BWIBED, )
408 AU (XL xF L) =AIF N T 2=/LT—F /)L 0.32 1.4 1.8
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.021 0.092 0.11
410 [R)AFLxFLy)=/=LT ==L T—TF /L 15 2.6 11 0.025 0.97 0.88 31
427 [JInN) v 263 263
428 | 7= )T HNT 90 157 247
438 [AFNFTHLL 0.72 0.72
457 [V LRA 175 92 406 673
s i 1,252 205 908 806 515 600 4,286
#3-1-27 FMANARDTE L BRI - KGR D Bl EAHEE RS R G304 ; KRIBRUT)
ek AT B (kg/4F)
L7 e 4 FHEH] B R Al | Redm | e T UBBRA P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 | 747 u=)L 2.1 237 239
EHT VXN R BU 2V M O O (7 v
30 [FAIDRFEH100H14ETOLD K IEDIR 321 1.4 12 110 444
BWITIRD, )
53 |TF NP 33 272 5.4 25 335
57 |=FLrrVa—E/TF )N T—F)L 46 46
64 |Th7zrTaysA 8.3 69 32 111 15 236
80 [FrLv 84 697|  0.033 44 44 869
86 /LY —L 237 11 89 336
87 |ZmAR O Az MEaY 0.14 0.14
117 | T77a)ry—) 13 13
132 [ VNR OO EY 0.026]  0.044 0.070
139 [hTmAR 87 5.8 92
140 |7 =r 7 asp 32 32
153 | ThI AR 1,424 2.7 23 1,276 0.27 2,725
171 [Far=aty— 111 111
181 [Prmp~ Py 1,691 26 212 1,928
207 2, 6=V =4 =) =T F N —4—JL ) —)L 68 50 0.005 118
225 [RYZmL 1.5 12 14
248 HATV ) 0.35 2.9 3.3
251 |7==hmaF o 94 780 21 895
252 | 7= F A 28 24 200 253
256 |7 1k 12 12
257 | T /)= 0.021 0.021
275 |RT Y VEREE Y 2 0.071 0.071
296 [1, 2, 4—hRJAF LB 59 1,258 1,317
297 |1, 3, 5—RIAF L~ B 52 360 411
300 [hroey 2.8 3.8 6.6
302 |[F7HLV 0.053 2.2 2.3
320 /=T x/)—)L 0.70 0.70
346 |2—Tx=)L 7= /)—)L 0.51 0.51
350 |~ULAR Y 92 10 84 94 215 495
405 [13HH#LEW 52 4.2 56
RY (AF =T LY) =T X )Lm—T )L (TLF
407 | NVIEDRFED 20 H15ETOLED K EDIR 5.9 49 0.27 55
GRS, )
408 | ARY (FFvxFLU)=AIF N T ==L T—T )b 0.89 7.3 8.2
RY (AFL 2T L) =R T L T—TUhEET A
09 |2 5 0.057 0.47 0.53
410 (R (A FvxFLy) =)=V T =)L =—T )b 54 7.0 58] 0.090 2.8 2.5 124
427 |J1/vsNYv 956 956
428 |7 )TINT 328 451 778
438 AFNFTHLL 2.1 2.1
457 [V 7VARA 635 251 2,080 2,966
& i 4,549 562]  4,648] 2,929 1,477 1,719] 15,882
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#3-1-28 B MANARD T E S BT -i’f%ﬂ:#%%’f%ﬂ@%ﬂjif%#

2R CFR304F S ; ST )
PR i (kg/4F

KA )
e WA, FIE M T RN S =l S: P
fiRea - Bob A | BRI [Pk B Al R FUE o
22 [747u=)L 1.1 127 128
BT VAR B AR O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 176 1.3 4.6 59 240
BWIIRD, )
53 |TF AP 31 107 2.9 13 154
57 |=FLoFYa—LE/FNT—T)L 25 25
64 |Th7= T ayIA 7.9 27 18 60 8.3 120
80 [FI L 80 274 0.018 24 24 401
86 | /LY —/L 129 10 35 174
87 | ZulR U=zt &l 0.076 0.076
17 (772l — 6.9 6.9
132 |2 VRROZEDOLAEY 0.014 0.024 0.037
139 [hIuAR 47 3.1 50
140 [ 7= Fusp 17 17
153 |[ThI AR 779 2.6 8.9 698 0.14 1,488
171 | 7e’atry—iL 59 59
181 [Yrmo~ B 925 24 83 1,032
207 |2, 6—V—H—vx)—TF)—4—JL/—)L 37 27 0.002 64
225 [NJZmjLie 1.4 4.9 6.3
248 [ HATY ) 0.33 1.1 1.5
251 |7==kaFAfv 89 307 11 408
252 | 7= F A 15 23 79 117
256 |7 Wk 6.3 6.3
257 | T/ —)L 0.012 0.012
275 |RT YV VRREE S R D A 0.039 0.039
296 |1, 2, 4— R AF LB 32 673 705
297 |1, 3, 5—RIAF N~ BV 28 192 220
300 [~ 1.5 2.0 3.5
302 [F7HL 0.028 1.2 1.2
320 /=T x/)—)v 0.37 0.37
346 2—Tx=/NTx/)—)L 0.27 0.27
350 [~ULAR) Y 50 9.6 33 51 115 259
405 1ZH5FLEW 29 2.2 31
R (AFzFLU) =T AFNLT—T )L (T LF
407 | VIEDRFEN120B15ETOLD K DR 5.6 19 0.14 25
BWIBED, )
408 AU (XL xF L) =AIF N T 2=/LT—F /)L 0.84 2.9 3.7
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.054 0.18 0.24
410 [R)AFLxFLy)=/=LT ==L T—TF /L 29 6.6 23] 0.049 1.5 1.4 62
427 [JInN) v 523 523
428 |7 )T HNT 179 241 420
438 [AFNFTHLL 1.1 1.1
457 [V 7rLARA 347 237 819 1,404
s i 2,488 531 1,830 1,602 790 919 8,159
F23-1-29 % mANARD T B B - et G b A B OB L Bt 315 R CAR304E I ; 4% B IR
ek AR i (ke /)
L7 e 4 FHEH] B R Al | Redm | e T UBBRA P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 [747u=)L 0.29 44 44
EHT LT NAR B RV REE R OF O (7 v
30 [FAIDRFEH100H14ETOLD K IEDIR 45 0.95 2.2 20 68
BWITIRD, )
53 |TF NP 22 52 1.0 4.6 80
57 |=FLrrVa—E/TF )N T—F)L 8.6 8.6
64 |Th7=rTaysA 5.7 13 4.5 21 2.9 47
80 [FrLv 57 133]  0.005 8.2 8.2 207
86 /LY —L 33 7.3 17 57
87 |7mAR O AlizrMEaY 0.026 0.026
117 | T77a)ry—) 2.4 2.4
132 [ VNR OO EY 0.005/  0.008 0.013
139 [hFmARY 12 1.1 13
140 |7 =r 7T us’p 4.4 4.4
153 | ThI AR 198 1.9 4.3 177 0.049 382
171 [Far=aty— 21 21
181 [Prmp~L Py 235 17 40 293
207 2, 6=V =4 =) =T F N —4—JL ) —)L 9.4 7.0 0.0009 16
225 [RYZmLy 1.0 2.4 3.4
248 HATV ) 0.24 0.56 0.80
251 |[Zx=haFAfr 64 149 2.9 216
252 | 7= F A 3.9 16 38 59
256 |7 1k 2.2 2.2
257 | T /)= 0.003 0.003
275 |RT Y VEREE Y 2 0.010 0.010
296 |1, 2, 4— R AF N~ BV 11 234 245
297 |1, 3, 5—RIAF L~ B 9.6 67 77
300 [hroey 0.52 0.71 1.2
302 |[F7HLV 0.010 0.42 0.43
320 /=T x/)—)L 0.13 0.13
346 [2—Tx=NTx/)—)L 0.095 0.095
350 |~ULAR Y 13 6.9 16 13 40 89
405 [13HH#LEW 7.3 0.78 8.0
R (AF =T L) =T X )Lm—T )L (T LF
407 |WVIEDRFFII12D3515FTOHLD KR OE DR 4.0 9.4 0.050 14
GRS, )
408 |ARY (A Fv=FLU) =4 /FNT ==L T—T )L 0.60 1.4 2.0
RY (AFL 2T L) =R T L T—TUhEET A
09 |2 5 0.039|  0.090 0.13
410 (R (A FvxFLy) =)=V T =)L =—T )b 7.5 4.7 11| 0.013 0.52 0.47 24
427 |J1/vsNYv 133 133
428 |7 )TIINT 46 84 129
438 AFNFTHLL 0.38 0.38
457 [V 7V AR A 88 171 397 657
& i 632 382 888 407 275 320 2,904
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SO ; Finafk L IR)

#3-1-30 R MANARD TS EF I - i’f%ﬂ:?%fﬁ%”@%ﬂjiﬁﬁrﬁ% CFRL

KA TP (ka/4E)
e WA, FIE M T RN S =l S: P
fiRea - BobA | BRI [BikREEE HBR A R FUE
22 | 747 u=)L 0.19 88 88
BT VAR B AR O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 29 2.3 2.0 41 74
BWIIRD, )
53 |TF AP 54 47 2.0 9.2 112
57 |=FLv s )a—LE/)TF L T—F)L 17 17
64 |ThT7= T aYIA 14 12 2.9 41 5.8 75
80 [FI L 138 119 0.003 16 16 290
86 /LY —)L 21 18 15 54
87 | ZuLR U=l b & 0.053 0.053
U7 [57=a2y = 4.8 4.8
132 |2 SUVRR O DIREY) 0.010 0.016 0.026
139 [hIuAR 7.8 2.1 9.9
140 [ 7= SRR 2.9 2.9
153 |[ThI AR 128 4.5 3.9 115 0.099 251
171 |[FoEaty—nL 41 41
181 [Yrmo~ B 152 42 36 230
207 (2, 6—Y—F—x—TFNL—4—JLY—)L 6.1 4.5 0.002 11
225 [N 7oLk 2.4 2.1 4.6
248 ([ HATV ) 0.58 0.50 1.1
251 |7==kaFAfv 154 134 1.9 290
252 | 7= F A 2.5 40 34 77
256 |7 Wk 4.4 4.4
257 | T/ —)L 0.002 0.002
275 |RT YV VRREE S R D A 0.006 0.006
296 |1, 2, 4— R AF LB 22 468 490
297 [1, 3, 5—hIAF LB 19 134 153
300 |hjrmy 1.0 1.4 2.5
302 [F7HLY 0.020 0.84 0.86
320 /=T x/)—)v 0.26 0.26
346 2—Tx=/NTx/)—)L 0.19 0.19
350 [~ULAR) Y 8.3 17 14 8.5 80 128
405 1ZH5FLEW 4.7 1.6 6.2
R (AFLFLU) =T AFNLT—T /L (T LF
407 | VIEDRFEN120B15ETOLD K ZE DR 9.7 8.4 0.10 18
AWIBRD, )
408 ARY (AFvFL L) =FAIF N T =) T—T )L 1.5 1.3 2.7
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.093|  0.081 0.17
410 [R)AFLxFLy)=/=LT ==L T—TF /L 4.8 11 9.9]  0.008 1.0 0.94 28
427 [J1L UL 86 86
428 | 7= )T HNT 29 168 197
438 [AFNFTHLL 0.77 0.77
457 [P Ur)LRA 57 412 357 825
s il 409 920 797 263 550 640 3,579
#3-1-31 FMANARDTEE BRI - KA BRI DO Pl EHEZ RS R G304 A B IR
ek AT B (kg/4F)
L7 e 4 FHEH] B A Al | ARedm | e UEBRA] P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 [747u=)L 0.10 15 15
EHT LF R B 2V M O O (7 v
30 [FAVIDRFEH100H14ETOLD K IEDIR 16 0.49 1.3 7.1 24
GRS, )
53 |TF NP 11 32 0.35 1.6 45
57 |=FLrrVa—E/TF )N T—F)L 3.0 3.0
64 |Th7= T aysA 2.9 8.0 1.5 7.2 1.0 21
80 [FiLv 29 81 0.002 2.9 2.8 116
86 /LY —/L 11 3.7 10 25
87 |ZmAR O Az MEaY 0.009 0.009
117 | T77a)ry— 0.83 0.83
132 (2 VR RO ZEOILAY 0.002]  0.003 0.004
139 [FFaARY 4.2 0.37 4.6
140 |7 =rFus’R 1.5 1.5
153 | ThI AR 69 0.96 2.6 62 0.017 134
171 [For=ty— 7.2 7.2
181 [Prmp~_ Py 82 8.9 25 115
207 2, 6=V =4 =) =T F N —4—JL ) —)L 3.3 2.4 0.0003 5.7
225 |RZmLiy 0.52 1.4 2.0
248 HATV ) 0.12 0.34 0.46
251 |[Zx=haFAfr 33 91 1.0 124
252 |7 F A 1.4 8.5 23 33
256 |7 1k 0.76 0.76
257 | T /)= 0.001 0.001
275 |RF YRR 7 A 0.003 0.003
296 [1, 2, 4—RJAF LB 3.8 81 85
297 |1, 3, 5—RAF L~ B 3.3 23 27
300 [ 0.18 0.25 0.43
302 |[F7HLV 0.003 0.14 0.15
320 /=N Tx/)—)L 0.045 0.045
346 2—Tx=NTx/)—)L 0.033 0.033
350 |~ULAR Y 4.4 3.6 9.8 4.5 14 36
405 [1ZH5H#LEW 2.5 0.27 2.8
R (AF T Ly) =T NF)Lz—T )L (TILF
407 |WVIEDRFFII1203515FTOHLO KR OE DR 2.1 5.7 0.017 7.8
GRS, )
408 [ RY (FFvxFLU)=AIF N T 2= T—T )b 0.31 0.85 1.2
RY (FF L 2FL ) =R T L T—TUhEET A
09 |2 5 0.020]  0.055 0.074
410 (R (A FvxFLy) =)=V T z=)LT—TF )L 2.6 2.4 6.7]  0.004 0.18 0.16 12
427 |J1/vsYv 46 46
428 |7 )TINT 16 29 45
438 AFNFTHLL 0.13 0.13
457 [V 7VARA 31 88 241 360
& i 220 196 539 142 95 111 1,303
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#3-1-32 %Al b:f%é%%%@?ﬁu-ifr%m#%%’fﬂmﬂkﬂji;&%ﬁﬁ

2R CERK30EEE ; ISR I
PR i (kg/4F

KA )
e WA, FIE M T RN S =l S: P
fiRea - BobA | BRI [Pk B Al R FUE o
22 | 747 u=)L 0.11 19 19
BT VAR B AR O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 18 1.0 1.7 8.9 29
BWIIRD, )
53 |TF NP 23 41 0.43 2.0 67
57 |=FLvFYa—LE/FNT—T)L 3.7 3.7
64 |ThT7= T aYIA 5.9 10 1.8 9.0 1.2 28
80 [FI L 60 105 0.002 3.6 3.5 172
86 | /LY —/L 13 7.6 13 34
87 | ZuLR U=l b & 0.011 0.011
17 (772l —) 1.0 1.0
132 |2 VRROZEDOLAEY 0.002 0.004 0.006
139 [hIuAR 4.8 0.47 5.3
140 [ 7= SRR 1.8 1.8
153 |[F7hI AR 79 1.9 3.4 71 0.021 155
171 [Fae=aty—u 8.9 8.9
181 [Yrma~ B 94 18 32 144
207 |2, 6—V—H—vx)—TF)—4—JL/—)L 3.7 2.8 0.0004 6.5
225 [NJZmjLie 1.1 1.9 2.9
248 [ HATY ) 0.25 0.44 0.69
251 |7==kaFAfv 67 117 1.1 185
252 | 7= F A 1.6 17 30 49
256 |7 Wk 0.95 0.95
257 | T/ —)L 0.001 0.001
275 |RT YV VRREE S R D A 0.004 0.004
296 |1, 2, 4— R AF LB 4.8 101 106
297 |1, 3, 5—RIAF N~ BV 4.2 29 33
300 [~ 0.22 0.31 0.53
302 [F7HL 0.004 0.18 0.19
320 V=T )—)L 0.056 0.056
346 [2—7x=/LT7x/)—)L 0.041 0.041
350 [~ULAR) Y 5.1 7.3 13 5.2 17 48
405 1ZH5FLEW 2.9 0.34 3.2
R (AFLFLU) =T AFNLT—T /L (T LF
407 | VIEDRFEN120B15ETOLD K ZE DR 4.2 7.4 0.022 12
AWIBRD, )
408 AU (XL xF L) =AIF N T 2=/LT—F /)L 0.63 1.1 1.7
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.040|  0.071 0.11
410 [R)AFLxFLy)=/=LT ==L T—TF /L 3.0 5.0 8.7 0.005 0.22 0.20 17
427 [T Yv 53 53
428 |72 )TINT 18 36 54
438 [AFNFTHLL 0.17 0.17
457 [P I LR A 35 179 312 526
s il 252 399 698 162 119 139 1,769
#3-1-33 BB ANARDTE L BRI - KGR D Bl B AHEF RS R G304 AL ; [l (L1 B)
ek AR i (ke /)
L7 e 4 FHEH] B A Al | ARedm | e UEBRA] P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 [747u=)L 0.39 50 50
EHT LF R B 2V M O O (7 v
30 [FAVIDRFEH100H14ETOLD K IEDIR 61 2.1 3.8 23 90
GRS, )
53 |TF NP 50 88 1.1 5.2 145
57 |=FLrrVa—E/TF )N T—F)L 9.7 9.7
64 |Th7= T aysA 13 22 6.0 23 3.2 68
80 [FiLv 128 226]  0.006 9.3 9.2 372
86 /LY —L 45 16 29 90
87 |ZmAR O Az MEaY 0.030 0.030
117 | T77a)ry— 2.7 2.7
132 |2/ VR OZEOLE 0.005/  0.009 0.015
139 [hTEAR 16 1.2 18
140 |7 =r 7 us’p 6.0 6.0
153 | ThI AR 268 4.2 7.3 241 0.056 521
171 [For=py— 23 23
181 [Zmp~L B 319 39 69 426
207 2, 6=V =4 =) =T F N —4—JL—)L 13 9.4 0.001 22
225 |RZmjLiy 2.3 4.0 6.3
248 HATV ) 0.53 0.95 1.5
251 |[Zx=haFAfr 143 253 3.9 400
252 | 7= FF 5.3 37 65 107
256 |7 1k 2.5 2.5
257 | T /)= 0.004 0.004
275 |RT Y VEREE D 2 0.013 0.013
296 |1, 2, 4— R AF N~ BV 12 264 276
297 |1, 3, 5—RAF LB 11 75 86
300 [hroer 0.58 0.80 1.4
302 |[F7HLV 0.011 0.47 0.48
320 /=N Tx/)—)L 0.15 0.15
346 2—Tx=NTx)—)L 0.11 0.11
350 |~ULAR Y 17 15 27 18 45 123
405 [1ZH5H#LEW 9.8 0.87 11
R (AF T Ly) =T NF)Lz—T )L (TILF
407 |WVIEDRFFII1203515FTOHLO KR OE DR 9.0 16 0.057 25
GRS, )
408 |ARY (AFv=FLo) =4 /FNTz=)LT—T )L 1.3 2.4 3.7
RY (FF L 2FL ) =R T L T—TUhEET A
09 |2 5 0.086 0.15 0.24
410 (R (A FvxFLy) =)=V T z=)LT—TF )L 10 11 19[  0.017 0.58 0.53 41
427 |J1/vsYv 180 180
428 |7 )TIINT 62 94 156
438 (AFNFTHLL 0.43 0.43
457 [V 7V AR A 120 381 675 1,176
& i 858 852 1,508 552 309 360 4,439
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#3-1-34 Al b:f%é%%%@?ﬁu-ifr%m#%%’fﬂmﬂkﬂji;&%ﬁﬁ

2R CER30ER I ; A 5 %)
PR i (kg/4F

KA )
e WA, FIE M T RN S =l S: P
fiRea - Bob A | BRI [Pk B A R FUE o
22 | 747 u=)L 0.58 69 69
BT VAR B AR O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 91 2.5 5.4 32 131
BWIIRD, )
53 |TF AP 58 128 1.6 7.2 194
57 |=FLvFYa—LE/FNT—T)L 13 13
64 |ThT7= T aYIA 15 32 9.1 32 4.5 93
80 [FI L 149 326]  0.009 13 13 501
86 | /LY —/L 67 19 41 127
87 | ZuLR U=l b & 0.041 0.041
17 (772l —) 3.7 3.7
132 |2 SUVRR O DIREY) 0.007 0.013 0.020
139 [hIuAR 25 1.7 26
140 [ 7= FusRp 9.0 9.0
153 |[T7hI AR 403 4.8 11 361 0.077 780
171 | 7e’atry—iL 32 32
181 [Yrmo~ B 479 45 99 623
207 (2, 6—Y—F—x—TFNL—4—JLY—)L 19 14 0.001 33
225 [N 7oLk 2.6 5.8 8.4
248 ([ HATV ) 0.62 1.4 2.0
251 |7==kaFAfv 167 365 5.8 538
252 | 7= F A 8.0 43 94 145
256 |7 Wk 3.4 3.4
257 | T/ —)L 0.006 0.006
275 |RT YV VRREE S R D A 0.020 0.020
296 |1, 2, 4— R AF LB 17 365 382
297 |1, 3, 5—RIAF N~ BV 15 104 119
300 [pLry 0.81 1.1 1.9
302 [F7HLY 0.015 0.65 0.67
320 | /=T x/)—) 0.20 0.20
346 2—Tx=/Tx/)—)L 0.15 0.15
350 [~ULAR) 26 18 40 27 62 172
405 1ZH5FLEW 15 1.2 16
R (AFzFLU) =T AFNLT—T )L (T LF
407 | VIEDRFEN120B15ETOLD K DR 11 23 0.079 34
BWIBED, )
408 ARY (AFvFL L) =FAIF N T =) T—T )L 1.6 3.4 5.0
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.10 0.22 0.32
410 |[RY (AFveFLy)=/=Tz=)LT—T /)L 15 12 27 0.026 0.81 0.73 56
427 [JInN) v 271 271
428 T )T HNT 93 131 224
438 [AFNFTHLL 0.60 0.60
457 [V LRA 180 444 974 1,598
s i 1,288 992 2,176 830 429 499 6,213
#3-1-35 FMANARDTEE BRI - RS BRI D Bl B AHEF RS R CEAB0MEAE ; 11 B
ek AT B (kg/4F)
L7 e 4 FHEH] B R Al | Redm | e T UBBRA P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 [747u=)L 0.29 69 69
EHT VXN R BU 2V M O O (7 v
30 [FAIDRFEH100H14ETOLD K IEDIR 45 1.7 2.1 32 81
BWITIRD, )
53 |TF NP 40 49 1.6 7.2 97
57 |=FLrrVa—E/TF )N T—F)L 13 13
64 |Th7=rTaysA 10 12 4.5 32 4.5 64
80 |[FrLv 101 125 0.005 13 13 251
86 /LY —/L 33 13 16 62
87 |7mAR O AlizrMEaY 0.041 0.041
117 | T77a)ry—) 3.7 3.7
132 [ VNR OO EY 0.007]  0.013 0.020
139 [hTmARV 12 1.7 14
140 |7 =r 7T us’p 4.5 4.5
153 | ThI AR 200 3.3 4.1 179 0.077 387
171 [Far=aty— 32 32
181 [Prmp~_ Py 238 31 38 306
207 2, 6=V =4 =) =T F N —4—JL ) —)L 9.5 7.0 0.001 17
225 |RJZmLasy 1.8 2.2 4.0
248 HATV ) 0.42 0.52 0.94
251 |[Zx=haFAfr 113 140 2.9 256
252 |7 FF 4.0 29 36 69
256 |7 1k 3.4 3.4
257 | T /)= 0.003 0.003
275 |RT Y VEREE Y 2 0.010 0.010
296 |1, 2, 4— R AF N~ BV 17 365 382
297 |1, 3, 5—RIAF L~ B 15 104 119
300 [hroey 0.81 1.1 1.9
302 |[F7HLV 0.015 0.65 0.67
320 /=T x/)—)L 0.20 0.20
346 2—Tx=NTx/)—)L 0.15 0.15
350 |~ULAR Y 13 12 15 13 62 116
405 [13HH#LEW 7.3 1.2 8.6
R (AF =T L) =T X )Lm—T )L (T LF
407 |WVIEDRFFII12D3515FTOHLD KR OE DR 7.1 8.8 0.079 16
GRS, )
408 |ARY (A Fv=FLU) =4 /FNT ==L T—T )L 1.1 1.3 2.4
RY (AFL 2T L) =R T L T—TUhEET A
09 |2 5 0.068/  0.084 0.15
410 (R (A FvxFLy) =)=V T =)L =—T )b 7.6 8.4 10[  0.013 0.81 0.73 28
427 [ 134 134
428 |7 )TIINT 16 131 177
438 AFNFTHLL 0.60 0.60
457 [V 7V AR A 89 302 372 763
& i 640 674 832 412 429 499 3,485
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#3-1-36 & MANARD TS B -i’f%ﬂ:?%%’f%ﬂ@f#ﬂjif%#

2R CF R 304FJE ; 5 )
PR i (kg/4F

KA )
e W4 FIE M T RN S =l S: P
fiRea - BobA | BRI [Pk B Al R FUE o
22 | 747 u=)L 0.16 37 38
BT VAR B AR O DY (7 v
30 [FARORFES10H14ETOLD K PEDIE 24 2.2 1.7 17 45
BWIIRD, )
53 |TF AP 51 39 0.85 3.9 95
57 | =FL s Ya—LE/)TF/)LT—T/L 7.3 7.3
64 |ThT7= T aYIA 13 9.9 2.4 18 2.4 45
80 [FI L 131 100[  0.002 7.0 6.9 245
86 /LY —)L 18 17 13 47
87 | ZuLR U=l b & 0.022 0.022
U7 [57=a2y = 2.0 2.0
132 |2 SUVRR O DIREY) 0.004 0.007 0.011
139 [hIuAR 6.5 0.91 7.4
140 [ 7= SRR 2.4 2.4
153 |7hT AN 107 4.3 3.3 96 0.042 211
171 [Fae=aty—u 18 18
181 |[Yrma~ ¥ 127 40 31 198
207 (2, 6—Y—F—x—TFNL—4—JLY—)L 5.1 3.8 0.0007 8.9
225 [N 7oLk 2.3 1.8 4.1
248 ([ HATV ) 0.55 0.42 0.97
251 |7==kaFAfv 147 112 1.6 261
252 | 7= F A 2.1 38 29 69
256 |7 Wk 1.9 1.9
257 | T/ —)L 0.002 0.002
275 |RT YV VRREE S R D A 0.005 0.005
296 |1, 2, 4— R AF LB 9.3 198 208
297 [1, 3, 5—hIAF LB 8.2 57 65
300 |hjrmy 0.44 0.60 1.0
302 [F7HLY 0.008 0.35 0.36
320 /=T x/)—)L 0.11 0.11
346 [2—7x=/LT7x/)—)L 0.081 0.081
350 [~LARY 6.9 16 12 7.1 34 76
405 1ZH5FLEW 3.9 0.66 4.6
R (AFLFLU) =T AFNLT—T /L (T LF
407 | VIEDRFEN120B15ETOLD K ZE DR 9.3 7.1 0.043 16
AWIBRD, )
408 ARY (AFvFL L) =FAIF N T =) T—T )L 1.4 1.1 2.4
R (AFTFLy) =RFINT—TRiRTA
4091 5 0.088)  0.068 0.16
410 [R)AFLxFLy)=/=LT ==L T—TF /L 4.1 11 8.3 0.007 0.44 0.40 24
427 [J1L UL 72 72
428 |7 )T HNT 25 71 96
438 [AFNFTHLL 0.32 0.32
457 [P I LR A 48 391 300 739
s i 342 874 670 220 233 271 2,611
#3-1-37 BB ANARDTE L BRI - RS BRI DO Bl B AHEE RS R G304 75 115)
ek AT B (kg/4F)
L7 e 4 FHEH] B A Al | ARedm | e UEBRA] P
& BobA | BIRIR [BiEREEE | HBRA S FUE o
22 | 747 u=)L 0.20 19 19
EHT LF R B 2V M O O (7 v
30 [FAVIDRFEH100H14ETOLD K IEDIR 30 1.8 1.3 8.7 42
BYNIRD, )
53 |TF NP 43 30 0.43 1.9 76
57 |=FLrrVa—E/TF )N T—F)L 3.6 3.6
64 |Th7= T aysA 11 7.7 3.0 8.8 1.2 32
80 [FiLv 110 77| 0.003 3.5 3.5 194
86 /LY —L 22 14 9.8 46
87 |ZmAR O Az MEaY 0.011 0.011
117 | T77a)ry— 1.0 1.0
132 [ VNR OO EY 0.002]  0.003 0.005
139 [hTEAR 8.2 0.46 8.6
140 |7 =rFus’R 3.0 3.0
153 | ThI AR 134 3.6 2.5 120 0.021 261
171 [For=ty— 8.8 8.8
181 [Prmp~_ Py 160 33 24 217
207 2, 6=V =4 =) =T F N —4—JL—)L 6.4 4.7 0.0004 11
225 [~ ZaLsRy 1.9 1.4 3.3
248 HATV ) 0.46 0.32 0.78
251 |[Zx=haFAfr 123 87 1.9 212
252 |7 F A 2.7 32 22 57
256 |7 1k 0.93 0.93
257 | T /)= 0.002 0.002
275 |RT Y VEREE D 2 0.007 0.007
296 [1, 2, 4—RJAF LB 4.7 99 104
297 |1, 3, 5—RAF L~ B 4.1 28 32
300 [ 0.22 0.30 0.52
302 |[F7HLV 0.004 0.18 0.18
320 /=N Tx/)—)L 0.055 0.055
346 [2—Tx=NTx/)—)L 0.040 0.040
350 |~ULAR Y 8.7 13 9.4 8.9 17 57
405 [1ZH5H#LEW 4.9 0.33 5.3
R (AF T Ly) =T NF)Lz—T )L (TILF
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